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Oracle SQL interview questions and answers for experienced professionals are
crucial as they help gauge the depth of knowledge and practical skills of
candidates in managing Oracle databases. As organizations increasingly rely
on Oracle for their database management needs, being well-prepared for
interviews can significantly enhance the chances of securing a desirable
position. This article will cover various Oracle SQL interview questions
tailored for experienced candidates, along with detailed answers and
explanations.

Understanding Oracle SQL

Oracle SQL (Structured Query Language) is the standard language used to
communicate with Oracle databases. It is essential for querying, updating,
and managing data in an Oracle database. Candidates with experience in Oracle
SQL should be well-versed in various concepts, including database design,
optimization, and advanced SQL functionalities.

Common Oracle SQL Interview Questions

In this section, we will explore some common interview questions that
experienced candidates may encounter, categorized into different topics for
better understanding.



1. SQL Basics and Data Manipulation

- Question: What is the difference between a PRIMARY KEY and a UNIQUE KEY in
Oracle SQL?

Answer:

- A PRIMARY KEY uniquely identifies each record in a table and does not allow
NULL values.

- A UNIQUE KEY also ensures uniqueness for a column but can allow one NULL
value.

- Each table can have only one PRIMARY KEY but can have multiple UNIQUE KEYS.

- Question: Explain the concept of normalization and its types.

Answer: Normalization is the process of organizing data in a database to
minimize redundancy and dependency. The main types of normalization are:

- First Normal Form (1NF): Ensures that all columns contain atomic values and
each record is unique.

- Second Normal Form (2NF): Achieved when all non-key attributes are fully
functionally dependent on the primary key.

- Third Normal Form (3NF): Ensures that all attributes are only dependent on
the primary key and not on other non-key attributes.

2. Joins and Subqueries

- Question: What is the difference between INNER JOIN and OUTER JOIN?

Answer:

- INNER JOIN: Returns records that have matching values in both tables. If no
match is found, the records are excluded from the result set.

- OUTER JOIN: Can be LEFT, RIGHT, or FULL. It returns all records from one
table and the matched records from the other table. If there’s no match, NULL
values are returned for the non-matching records.

- Question: How do you optimize a subquery?

Answer: To optimize a subquery:

- Use JOINs instead of subqueries when possible, as they are often more
efficient.

- Ensure that the subquery returns only the necessary columns and rows.

- Use EXISTS instead of IN for better performance, especially with larger
datasets.

3. Advanced SQL Functions

- Question: What are analytic functions in Oracle SQL?



Answer: Analytic functions perform calculations across a set of rows related
to the current row. Unlike aggregate functions, they do not group the result
set into a single output. Common analytic functions include:

- ROW_NUMBER() - Assigns a unique sequential integer to rows within a
partition of a result set.

- RANK() - Similar to ROW _NUMBER, but rows with equal values receive the same
rank.

- DENSE RANK() - Like RANK, but without gaps between rank values.

- Question: Explain the use of the COALESCE function.

Answer: The COALESCE function returns the first non-NULL value in a list of
arguments. It is useful in scenarios where you want to substitute NULL values
with a default value or another column.

Example:
“sql
SELECT COALESCE(columnl, 'Default Value') FROM table name;

4. Performance Tuning

- Question: How do you identify performance bottlenecks in Oracle SQL
queries?

Answer: Performance bottlenecks can be identified through:

- Analyzing execution plans using the "EXPLAIN PLAN" statement.

- Monitoring wait events and resource consumption using tools like Oracle
Enterprise Manager or SQL Trace.

- Checking for high cardinality columns and indexing strategies.

- Using the Automatic Workload Repository (AWR) reports to identify slow-
running queries and resource-intensive operations.

- Question: What are some best practices for writing efficient SQL queries?

Answer:

- Avoid SELECT ; specify only the required columns.

- Use WHERE clauses to filter data early in the query.

- Prefer JOINs over subqueries when applicable.

- Index columns that are frequently used in WHERE clauses or as JOIN keys.

- Minimize the use of functions on indexed columns in WHERE clauses to ensure
indexes are utilized.

5. Transaction Control and Concurrency

- Question: What are the different transaction isolation levels in Oracle?



Answer: Oracle supports the following transaction isolation levels:

- READ UNCOMMITTED: Allows dirty reads; uncommitted changes are visible to
other transactions.

- READ COMMITTED: Default level; only committed changes are visible.

- REPEATABLE READ: Ensures that if a row is read multiple times, it will
return the same values until the transaction is completed.

- SERIALIZABLE: The highest isolation level; transactions are executed in
such a way that they appear to be serial, preventing any other transaction
from accessing the data being modified until the first transaction is
complete.

- Question: How do you implement concurrency control in Oracle databases?

Answer: Concurrency control in Oracle databases can be implemented through:

- Row-level locking: Oracle uses a multi-versioning system, allowing multiple
transactions to access the same data without locking.

- Optimistic concurrency control: Transactions validate data before
committing changes to ensure no other transactions have modified it.

- Pessimistic concurrency control: Explicitly locking rows or tables to
prevent other transactions from accessing them until the current transaction
completes.

6. Data Definition Language (DDL) and Data Control
Language (DCL)

- Question: What is the purpose of the TRUNCATE command in Oracle SQL?

Answer: The TRUNCATE command is a DDL statement used to delete all rows from
a table quickly and efficiently without logging individual row deletions. It
resets the table’s storage space and cannot be rolled back. Unlike DELETE, it
does not fire triggers.

- Question: How do you grant and revoke privileges in Oracle SQL?

Answer: Privileges can be granted and revoked using the following commands:
- GRANT:

gl

GRANT SELECT, INSERT ON table name TO user name;

- REVOKE:

“sql
REVOKE SELECT, INSERT ON table name FROM user name;

Conclusion



Preparing for Oracle SQL interviews, especially for experienced candidates,
requires a deep understanding of various concepts, practices, and advanced
functionalities. Candidates should focus on both theoretical knowledge and
practical experience to answer questions confidently. By mastering topics
such as SQL basics, joins, analytic functions, performance tuning,
concurrency control, and DDL/DCL commands, individuals can enhance their
chances of success in Oracle SQL interviews. Continuous learning and practice
will ensure that candidates remain proficient and ready for any challenges
they may face in their professional journey.

Frequently Asked Questions

What is the difference between a primary key and a
unique key in Oracle SQL?

A primary key uniquely identifies each record in a table and cannot contain
NULL values, while a unique key also ensures that all values in a column are
different but can accept one NULL value.

How can you optimize a slow-performing SQL query in
Oracle?

To optimize a slow-performing query, you can use proper indexing, analyze
execution plans using EXPLAIN PLAN, rewrite the query for efficiency, limit
the result set with WHERE clauses, and avoid using SELECT .

What are the different types of joins in Oracle SQL?

The different types of joins in Oracle SQL include INNER JOIN, LEFT JOIN,
RIGHT JOIN, FULL OUTER JOIN, CROSS JOIN, and SELF JOIN, each serving to
combine rows from two or more tables based on related columns.

What is a subquery and how does it differ from a
join?
A subquery is a query nested within another SQL query, allowing for complex

filtering. Unlike joins that combine rows from multiple tables, subqueries
can return single or multiple values for use in the parent query.

How can you handle exceptions in PL/SQL?

In PL/SQL, exceptions can be handled using the EXCEPTION block. You define
the exception, raise it when necessary, and then catch it in the EXCEPTION
block to execute specific actions or log errors.

What are the advantages of using PL/SQL over SQL?

PL/SQL offers several advantages including the ability to write complex logic



with loops and conditions, support for exception handling, modular
programming with procedures and functions, and improved performance through
batch processing.

What is the purpose of the 'WITH' clause in Oracle
SQL?

The 'WITH' clause, also known as Common Table Expressions (CTEs), allows you
to define temporary result sets that can be referenced within SELECT, INSERT,
UPDATE, or DELETE statements, improving readability and maintainability.
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Prepare for your next job opportunity with our comprehensive guide on Oracle SQL interview
questions and answers for experienced candidates. Learn more now!
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